Sine Rule Ambiguous Case
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10 Arrowline Enterprises is considering two possible logos:

R

Fig. 10.1 Fig. 102

(i) Fig. 10.1 shows the first logo ABCD. It is symmetrical about AC.

Find the length of AB and hence find the area of this logo. [4]

(ii) Fig. 10.2 shows a circle with centre O and radius 12.6 cm. ST and RT are tangents to the circle
and angle SOR is 1.82 radians. The shaded region shows the second logo.

Show that ST = 16.2 cm to 3 significant figures.

Find the area and perimeter of this logo. [8]1
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At a certain time, ship S is 5.2 km from lighthouse L on a bearing of 048°. At the same time,

ship T is 6.3 km from L on a bearing of 105°, as shown in Fig. 10.1.
For these positions, calculate
(A) the distance between ships S and T,

(B) the bearing of S from T.
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(ii)
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Fig. 10.2

Ship S then travels at 24 km h™! anticlockwise along the arc of a circle, keeping 5.2 km from

the lighthouse L, as shown in Fig. 10.2.
Find, in radians, the angle 6 that the line LS has turned through in 26 minutes.

Hence find, in degrees, the bearing of ship S from the lighthouse at this time.
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